MA123, Chapter 6: Extreme values, Mean Value Theorem, Curve sketching, and Concavity

e Apply the Extreme Value Theorem to find the global extrema for continuous func-
tion on closed and bounded interval.
e Understand the connection between critical points and local extreme values.

Chapter Goals —|

o Understand the relationship between the sign of the derivative and the intervals
on which a function is increasing and on which it is decreasing.

e Understand the statement and consequences of the Mean Value Theorem.
e Understand how the derivative can help you sketch the graph of a function.

¢ Understand how to use the derivative to find the global extreme values
(if any) of a continuous function over an unbounded interval.

e Understand the connection between the sign of the second derivative of a function
and the concavities of the graph of the function.

e Understand the meaning of inflection points and how to locate them.

Assignments: Assignment 12 Assignment 13
Assignment 14 Assignment 15

Finding the largest profit, or the smallest possible cost, or the shortest possible time for performing a given
procedure or task, or figuring out how to perform a task most productively under a given budget and time
schedule are some examples of practical real-world applications of Calculus. The basic mathematical question
underlying such applied problems is how to find (if they exist) the largest or smallest values of a given function

on a given interval. This procedure depends on the nature of the interval.

> IGlobal (or absolute) extreme values:| The largest value a function (possibly) attains on an interval

is called its global (or absolute) maximum value. The smallest value a function (possibly) attains on an

interval is called its global (or absolute) minimum value. Both maximum and minimum values (if they
exist) are called global (or absolute) extreme values.

‘Example 1(21)in |Example 1(b):| lExample 1(c):|
Find the maximum and minimum Find the maximum and minimum Find the maximum and minimum
values for the function values for the function values for the function
f(l'):($~1)2—3, f($)=—l$-—2l+3, f(.’l))=il}2+1, xE[-:l,?]
if they exist. if they exist. if they exist. a)l -
Tops T ex

9

x=l 973
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We first focus on continuous functions on a closed and bounded interval. The question of largest and smallest

values of a continuous function f on an interval that is not closed and bounded requires us to pay more attention

to the behavior of the graph of f, and specifically to where the graph is rising and where it is falling.

| Closed and bounded intervals: |

An interval is closed and bounded if it has finite length and contains its endpoints.

For example, the interval [—2, 5] is closed and bounded.

» | The Extreme Value Theorem (EVT):—|

If a function f is continuous on a closed, bounded interval [a, b], then the function f attains a maximum and a

minimum value on [a, b].

ifz>0
ifz<0.

2+ .z
24+ -z

|Example 2(a):| Let f(z) = {

does this example illustrate the Extreme Value Theorem?

aﬂ‘ )(':@( 8:'2/ Wqu)(:

.......................

(44

N
Dix) 5 cenbimuous or e losad  pou—olod
_ ‘ hoore a wWicia —
wtervod, g0 T prust SIS SO N DSOS SO O
L wmin,
|Example 2(b)q Let g(z) = i Does g(z) have a maximum value
and a minimum value on [—2,3]? Does this example contradict the
Extreme Value Theorem? Why or why not?
O,L()() has wvo e ® ne run
< .
T s wol comtradict EVT, a5 T
L we caﬁra+
gl) s neX contiauous, o Lot s
- d(r QG*‘C/H;-W(. a 7Y 3[/\/) R SEEE SRRREE £ RETEILIEIPPIPPyY
use £V o a SN SURU U NS | DUUE U ORI
lExample 2(c):| Let h(z) = z* — 222 + 1. Does h(x) have a
maximum value and a minimum value on (—1.25,1.5)? Does this
example contradict the Extreme Value Theorem? Why or why not?
Wiy b o=l =
Mo e

M ax
Noa appears to be X x=L5 y= [.67625
Howecr hivl (s an[g oAefined for < {G:

§d we C nw Vj_ +0 ’k: (19\‘

Thi O«Mple shown The Vzecewﬁ;z A alosed

the EVT
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The EVT is an existence statement; it doesn’t tell you how to locate the maximum and minimum values of f.

The following results tell you how to narrow down the list of possible points on the given interval where the
function f might have an extreme value to (usually) just a few possibilities. You can then evaluate f at these
few possibilities, and pick out the smallest and largest value.

» | Fermat’s Theorenﬂ Let f(x) be a continuous function on the interval [a,b]. If f has an extreme value
at a point ¢ strictly between a and b, and if f is differentiable at = c, then f'(c) = 0.

Let f(z) be a continuous function on the closed, bounded interval [a,b]. If f has an extreme _
i - Pl)=0 = = '?”‘” l

value at £ = c¢ in the interval, then either (
e c=qgorc=b ?h} pflo( we I}/V(OV'Q X = 7 QJM?%
e a<c<band f'(c) =0 L W ave 0”9 ;?C(‘iMCo‘ﬂ
e a<c<band fis not differentiable at £ = ¢, so that f’ is not defined at z = c. . i
M P

Example 3:| Find the maximum and minimum values of  f(z) = 2% — 322 — 9z + 5 on the interval [0, 4]. Jt?m“/ e,

For which values z are the maxunum and minimum values attained?

Ectre-e valws, occur where ~(3/)</: 2% £ -4 -p/O) 0 2 0 ?0{—7’—/7 .
o E\dwo(mig e 0 or U = 2(x- 3)oc+ 1)=0] L(3)= ,} 33 2933+ = — AKX
#&/Lw/'e ‘C(“( =0 __7 e = 3 )(’__‘_h{ #{q— L{. 34 7(*_(_4——_—_/4

3 NE o =" 23
.whare L) D Also, _C o) osists ot 27, P valu o
Example 4:| Find the maximum and minimum values of F(s) = 258;'_61 on the interval [-1,5]. For
. . . b
which values s are the maximum and minimum values attained? Ow ,g n oed +o C‘lec

F&) is wot detined ot 526, htlypigy—= =12
s=06 \f om’f%(O(.Q a‘& [l ﬂ >F () (6/6)3
Wone© Mi(n  oOccur I S ,A/ow F//Q) PVE X 7-—5
e S = - oR 9 =5 J' \?aj =6 is o«fﬂG& 7‘9 El,
o Whae F//§, T = [? -0 )
s Winge F/[C)—— D,{/E k’/;)' 9'@’“
by Quatecd Refe =5 [ 15 0. e o po | W=
+ —
F/\): 2((;_,5')1 2 :—"—)_.\'5 =0 = / W q)L ;:l;/ 777{" = “
F//s) never zero- -

Example 5:| Find the maximum and minimum values of f(z) = 2?3 on the interval [-1,8]. For which

values 22:; the maximum and minimum values attained? r Sa nead o M X = "/
WMo M co OC wr / /\/(M,u %
a0 [t a4

ond ()01; ts

D+l _ =l -t
F ()= 2 ;7()+ == 2

F(ﬂ =
L
e

Mhare $&) 0 = 2=0, 5° ep)= 0=0 4
e £EI=D0E gy ) Meror=0.|efg)= 570 (%)= 2=
s 4 Mo, $U)= 5=V |Moa X x =8, Viar =1

ol
Pl FX = 3["7 3 P - =
PP At deSma] B =0 M wb =l min =L
{0 ' n/o,nmmmaiof‘)




Tw ordor 1o app! Fermwods m.e)ﬂtw( V/ee;/ k) Tv he continuoa ¢«
7M 5’2(730 O"IJ g0§9/b fraq /e f/ﬂf 1€ s> =| . 7{
'gky- /Q(/fl XQ*\' 2)(_{_1: L{-: QM ?)(+r7/ <o /Q(J() 1S el eh Qo 5

S k$l+ aom E_Z/?]
Find the £ values on the interval [-10,10] where g(t) = [t —4|+7 takes its maximum and ,7
minimum values. What are the maximum and minimum values? ' W n aj‘ 't:' ’ -
- beﬁL e sl _EHY ) M af eiler £, (0
9= gl0)= [-4lr= 17

z/ _ a(i0)= | o-t|+7= 2l
\ = E @) 9 g2l

2z 41 ifr<1
Example 7:| Find the maximum and minimum values of (z) = 2’ + 20 + L on the
—3z+7 ifz>1

/ mter?ij;] x < | Poas PN 9\°‘T r=-2,-1, 1, or 30} A,:l/
‘?(x): -3 x> | k(ﬂg)—-(;g_yaﬁ )+_’L.-:’I W (é;—é{
N+1 =
b defined b =1 k(-1)= (1) % a1 ,
E/(:l) 0 = Rxrtd= Oﬁx~~j/ k(1)= 1 ta21+1= Lr‘- Win o X

k(@)= —33+7= -2
Find the maximum and minimum values of g(z) =1+ 2+ 22+ 23 on the interval [0,2).

For which values z are the maximum and minimum values attamed:’,- e 7% [ 0) = [0+ 01 07’:— I
/ [+ 2 3 < SR 1 F&s“; \ s 2
be)= It ax=+ox (2)=+arta=1T

A SO (+(1>(+§x =z +040 ={
9/()() exists m{]wﬁte- ‘o 8/()():#0 o X n s o x= 0, y =
(=02 |t dx+ix =0 Co, 3 M o x=2 g = (T
Gt x i Lo2] v y’arfrajar Extrome velus O"’[&
’ OLY M= O .p)(;g_

> | Local (or relative) extreme points: | In addition to the points where a function might have a maximum

or minimum value, there are other points that are important for the behavior of the function and the shape of

its graph.
global max
y l If you think of the graph of the func-

local max tion as the profile of a landscape, the
global maximum could represent the
highest hill in the landscape, while the
minimum could represent the deepest

local max valley.
The other points indicated in the
graph, which look like tops of hills (al-
though not the highest hills) and bot-

local min

local min

x  tom of valleys (although not the deep-
est valleys), are called local (or rela-
T tive) extreme values.
global min
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Definition:| A function f-has a local (or relative) maximum at a point (c, f(c)) if there is some interval
about ¢ such that f(c) > f(z) for all z in that interval. A function f has a local (or relative) minimum
at a point (c, f(c)) if there is some interval about ¢ such that f(c) < f(z) for all z in that interval.

If f has a local extreme value at (c, f(c)) and is differentiable at that point ¢, then f(c) = 0

LCritical points:| Let f be a function. If f is defined at the point z = ¢ and either f'(c) = 0 or f'(c) is
undefined then the point ¢ is called a critical point of f.

> LIncreasing and decreasing functions:} A function f is said to be increasing when its graph rises and

decreasing when its graph falls. More precisely, we say that:

f is increasing on an interval I if
f(z1) < f(z2) whenever 21 < 5 in I.

f is decreasing on an interval I if
f(z1) > f(z2) whenever z; < x5 in I.

f(z2)

a b c d %

flz1) - :
: : : f is increasing on [a,b] and [c, d]
0 Z1 T2 0 z1 Z2 [ is decreasing on [b, c].

f is increasing f is decreasing

The picture shows the graph of y = f(z).

(a) Find the intervals on which f(z) is increasing and de- R - r

creasing. (@' _/(/) L/ (2( O&)

T ve reasf‘vg on (o~ — N /e L

Decrecing o (~00,0) U (1, 2) ST

(b) Find the intervals on which the tangent line to f(z) has ----- """ """""" SRS SR
positive slope, and the intervals on which the tangent : : : : : : :
line has negative slope.

Po{;ﬁ g/cy‘-ﬂ/ o (@/i)(/ («Q,c") §
A/Q?X]ve_,q/o e o (—cw/ O> U (l,g> SUTEUE S SR SIS SRS S R
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e +T&) Vi (' -1.9) o just need T(2)< +(-1.7/
f\)\o)/\j)ambi()&) \Y cmm(— 5 2) so na)w( Pl 7) 2> L I>>P(a)
c (7 .

)) > > &
(00 Uy: weed (-1 ;7—)>-(3[0)> £3)
x>0 X1
Suppose that f(—1. 5) =12 and f(2) = 1. In addition, you are given that f(z) is increasing

on the intervals (—oo, —1.5)U(2,00) and f(z) is decreasing on the interval (—1.5,2). Which of the following
are not possible?

Weod
@) 26 A om @ fn o Yes («(l)/f/w{ﬂ et M (%ﬁ{?3(¢(174$(4)

(=2) s £ (e Pz 4
(Q(‘”) =0 b) f(—2)=11 Ye5 %(30 4 (f) f(4)=6 Yea g QZ,%
" NRLLB) @ y=1 Mo Yw' (8) £(3 )—5andf4)—4/</o (t’g (;g P <Fd)
l /507[ @ fO =0 Ao (k) £(3) = 5 and »}”{(40)4:( 0 <o <6 Ve,

In general, using the algebraic definition of increasing/decreasing to verify that a function is increasing and
decreasing can be difficult. However, example 9 suggests an easier method for checking where a function is

increasing or decreasing:
o If f(x) is increasing then f'(z) > 0; o If f(z) is decreasing then f'(z) < 0.

We would like to be able to reverse these implications, but doing so will require some additional theory.
> |The Mean Value Theorem (MVT):l

If f is continuous on [a,b] and differentiable at every point strictly between a and b, then there exists some

point z = ¢ (and maybe more than one) strictly between a and b such that

) — f(a) f (@) _
|Geometric interpretation of the MVT:I For some (non-necessarily unique) point ¢ between a and b

the tangent line to the graph of f at P(c, f(c)) has the same slope as the secant line connecting the points
A(a, f(a)) and B(b, f(b)) on the graph of f. :

| A rewording of the MVT: |

If f is continuous on [a,b] and differentiable at every point strictly between a and b, then there exists some

point z = ¢ (and maybe more than one) strictly between a and b such that

the average rate of change the instantaneous rate of change

of f on [a,b] = of fatz=c.

Example 11:| Let Q(t) =t% Find a value A # 1 such that the average rate of change of Q(t) from 1

to A equals the instantaneous rate of change of Q(t) at ¢t = 2.
vacd AR = Tust. ROC A2 _ Aoa) _ y
@A-Q0 _ o) Al

K ol SA=7




D) #2 ¢ mifwmou s @ ﬂ(l#e/‘.e—«)[/d,b/e fo q,@ﬂk_

et f@) = -2t

Verify that the t the function satisfies the hypotheses of the Mean Value

Theorem on the interval [—2, 0]. Then find all numbers ¢ that satlsfy the conclusion of the Mean value Theorem

AROC 7 L/;Q(O] :ﬂ.o)_’i(ﬁ) Tu:t R = ,_3)(” sz q/$ =
_ 2 < -

_ (0-0%) = (-2 —(=7%) " Z S0 |- 2e=-3 + &= f‘

g :;7 262;(‘{ l;t( On/ bvam)t C “4 [’?/QZ

Here are three consequences of the Mean Value Theorem:

| The Constant Function Theorem: |

If f is differentiable on an interval T and the derivative
f'(z) =0 for all z € I, then f is constant on I.

Gorollry:|

If f and ¢ are differentiable on an interval I and
fi(z) = ¢/(z) for all z € I, then f — g is constant
on I; that is, f(z) = g(z) + c where c is a constant.

LIncreasing/ Decreasing Function Theorem:j

If f is differentiable on an interval I and f'(z) > 0
for all points = € I, then f is increasing on I.

If f is differentiable on an interval I and f'(z) < 0

for all points = € I, then f is decreasing on I.

T+ 4

ter o)~ 24
Fert Find whore. L6120 o DVE

g/ﬁ)’ (XA»'?)’“ 725t

volie-t 2

Rule / = (x’\'/'ﬁ—a. ,F// N/
_C/()(%O_;a?-’(),?o x)

=5 = 0= -

is increasing.

Foel, 1 ek wl\are, Pt)=0 o DVE
L = 4f Q0C = Ut(+>5)
plrt) exists ever yvﬁ”"‘i

>

e
L)

Find the intervals over which the function is increasing,.

D) DVE ot >e= -7
New, ) <en m/J c hamge- )
Pron + To — af

-?Ll«(rdu?/a = -

—

S0 [c =

|Proof of Increasmg Function Theorem: l

Suppose f'(z) > 0 on an interval I. We wish to
show that f(a) < f(b) for any pair @ < bin I. Let
a and b be any pair of point in I satisfying a < b.

e HUEHOM
fla
for some ¢ satisfymg a <c<b Now, f/(c) >0
and so .
0~ f@ _,
b—a
so f(b) — f(a) > 0, since b — a > 0. Therefore,

f(a) < f(b). This argument works for any a < b
in I, therefore f(z) is increasing on the whole
interval.

The Decreasing Function Theorem and Constant
Function Theorem can be proved with similar ar-
guments.

chow'lL

f/g‘m _>

Pex) A~ e

So, £0I jereasing o7 (-2,

G w W —-— 0’
Example 14:| Find the largest interval or collection of intervals on which the function

9)e (-7 °2)

[poc) +cattt |+ tTE

ft) =t*—10t2 49
~J (0] ‘}L;-“
¥ _
——— e [t dAt [ [t

Nl = 0 = =0 or 77O
=) ¢=0, “=xJ5
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Example 15:| Find the largest value of A such that the function h(s) = 1 is increasing for all s

(s—9)
in the interval (—oo, A).

Forst h(s) not o(ffméaeay c=9
Mo, Wirs)= —o%

W)\ =0=> —4 =0 = Moo
W) DVE wh =0

h78) + ettt ——m = — ~

b (4) 7 RN

,(?/f)/ on (—“Cd Q)
[arq;h)“ {c{c‘\ gufuv'aﬂ ot form [‘09,4)
has A= 9.

]First derivative test for (local) maxima and minima: | If f has a critical value at x = ¢, then

e f has a local maximum at z = c if the sign of f’ around c is Tt "
c
¢ f has a local minimum at = = ¢ if the sign of f' aroundcis "~ R
¢
Example 16 Suppose = 6(¢t — 5) — 131. Find the critical numbers of g(t). Then determine which

critical numbers glve rise to local mamma and which critical numbers give rise to local minima.

6 = §:3(¢-5) = I8 (t-5)" S 5
?/(H 2nisty evergulove. )3//6) + + +++] + 4+

NG 0 DF U4 =0 o4 A7
= =G0 D=7 g () P o both f_(i_o(_{é t=4,
ounly o2 C‘”!hwﬁ M‘W’W - . oHer local poa
d =5 J So U s oo ,
— e e T vioxr /0 Cﬁp (N,
Suppose  k'(t) = (t — 5)(t + 1)(t — 3). Find all intervals on which the function k(t) is
decreasing. - B ’ g g"
k (4 l)w[&rek({’)<0-
Wow =

) *"“7;4’{{1) B B e Eer s
k! (t)= _
¢ C)(Hl)(é Neo BN | Z | s | 7

1=0
o 0 B N e et (00
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d
Suppose ﬁ = (z2+1)(z—3)(x—1)(z+5). Find the z value in the interval [—5, 3] where
=

u(z) takes its maximum value. I_ o - d,_
\;(/0:\/ M =53 o whre U= 3 E } j
e 2 5) = U + -
ds 20 2 (AGDEAT)I =0 G r ot T
e N S| pEER " ~ \y
- Xq:\.'l_::o = —32 1 " & [oazp i O
oM. e — 2 =0 _-’;—9 X — X =

A > —[=0 == As te Puction only chomgea
1 to N oneé, we ‘
= e X = -5 | o5 C an com < |wdle .o locad woa /s

ac‘fvw%t 0\‘7{0/0&7& Ao,
Suppose g¢'(z) =1+z2+2%  Find the 2 values ¥ the interval [—3,4] where g(z) takes

its minimum.

Yin  oX X:”?) 4 o (//M _53,/()()70,;}3()()//7
gi=n g | o el o T4
ciaxt e {s ower %&‘“*/ | e
2 . .
and |+ X'Q%Xq';—() ,‘V»‘paﬂlwlg g  mwn

o - ,3
tnee |+ Brtive = O z‘wpa%/b/e |t elp M?l/ /\,

2 o z[]>=0
T Aacl, g'xl= [ ix 2 4010 2]
fo g'x) 20 en (5, 4]
Find the ¢ value(s) in the interval (0,00) where s(t) takes its minimum, given that

@uﬂll&ﬂ; m__\ws/(t) i & O A

dht (t> (e i’);L (f)/e 9//5) —_——-—— -+ ++T
)
/a 4 /¢ N\ S

— ‘ta 3{”8 - 1‘8 i’- e

— Py | B
i/& W{'VN.V”M” af t'/g
_ (—‘*fff)e
she) = DAE oo f“*iﬁ
(//%);0 = é(’f—”)e :0

»,

= F¢-1=0= =2 - 69



> ICurve sketching:| Information on the first derivative can be used to help us sketch the graph of a

function. For example, the first derivative can be used to determine where a function is increasing and where

it is decreasing.

Example 21:| Find the intervals where the function f(z) = 2% — 322 + 1 is increasing and the ones

where it is decreasing. Use this information to sketch the graph of f(z) = 23 — 322 + 1.
L= Bx b= Focloe-2) Locel »os oX X =D
M=o x=0, =2 | L@l run X x =32 (01
o S 202l =l
£(0)=0-70+(= ’_
@(ﬂﬁﬂ}«zﬂ:—? T Vi

Y, (2, -3)

> We saw that the first derivative of a function gives us information about where the function
is increasing and decreasing. What graphical information, if any, can be obtained from the second derivative?
We begin with an informal discussion. Lets suppose y = f(x) is twice differentiable on the interval [a, b] and
further suppose f”(x) > 0 on the entire interval. Since the derivative of f'(z) is positve on [a,b], then f/(z) is
increasing on [a, b]. Now, f'(z) measures the steepness of the the graph of y = f(z). Since f(z) is increasing,
then y = f(x) is gets steeper as z increases. Finally, increasing steepness of the graph should result in an

“upward bending” tendency of the graph.

Definition of Concavity: |

More formally, we say y = f(z) is concave up on an interval I if, for any pair of points a < b in I, the secant
line through (a, f(a)) and (b, f(b)) lies above the graph of y = f(x) for a < = < b.

We say y = f(x) is concave down on an interval I if, for any pair of points a < b in I, the secant line through
(a, f(a)) and (b, f(b)) lies below the graph of y = f(z) for a < z < b.

Using the above definition to verify that a function is concave up or concave down can be rather difficult. The

next two theorems provide easier methods for checking if a function is concave up or concave down.

Tangent line characterization of concavity: Suppose f(z) is differentiable on an interval @, b].

e The graph of y = f(z) is concave up on [a, 8] if and only if, for each a < zg < b, the graph of y = f(z)
lies above the tangent line at z = xg.

e The graph of y = f(z) is concave down on [a,b] if and only if, for each a < zg < b, the graph of
y = f(z) lies below the tangent line at z = x.

Second derivative test for concavity: Suppose f(z) is twice differentiable on an interval [a, b].
e The graph of y = f(z) is concave up on [a, b] if and only if f”(z) > 0 for all z in [a, b].

o The graph of y = f(z) is concave down on [a, ] if and only if f”(z) < 0 for all z in [a, b].
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graph with varying concavity



_ Find the intervals over which the function f(z) = z* — 623 + 1222 + 3z — 1  is concave

upward and the ones over which it is concave downward. 1 2
Ror= g 1BxTp oI > .
D) = |25 2650+ 24 P ///X) 4 _(;)++ _\,,_, _;_;;,

= |R( xa_‘ 23+ R) "9/()() S~ » P;_:) = MP‘
w6 | o) Cdp [P €

", — - o ) w)
—P(X):O—% )(//,9\ C.UVW oei 'P{;Z‘ (1 Q)
< Dram em ¢ /.
IInﬂection points: | A point (c, f(c)) on the graph is called a point of inflection if the graph of y = f(x)
changes concavity at z = c. That is, if the graph goes from concave up to concave down, or from concave down

to concave up. If (c, f(c)) is a point of inflection on the graph of y = f(z) and if the second derivative is defined
at this point, then f”(¢) = 0.

Thus, points of inflection on the graph of y = f(x) are found where either f”(x) = 0 or the second derivative is
not defined. However, if either f”(z) = 0 or the second derivative is not defined at a point, it is not necessarily

the case that the point is a point of inflection. Care must be taken.

Example 23:| If the derivative of the function g(z) is given by  ¢'(z) = 422 + 12z + 15, determine the

interval(s) where g(z) is concave upward and the one(s) where it is concave downward. Find the z-coordinate
of the inflection point(s). ~- 7/

>, . 2. % 7 —
g(x) C e lodp
C em w}f’ffa swilehos of M= T4 fo x=-% geee Vise
on ! YUD/ ec‘h% /? o/ n'lL,
Suppose f(z) = z*. Determine the interval(s) where g(z) is concave upward and the one(s)

where it is concave downward. Find the z-coordinate of the inflection point(s).

O] = Yo? = Pl = 4Ba= (237

plicl= 0 = RFEO=x=0 P
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Example 25:| Find the z-coordinate of the inflection points of the function g(x) = e, + L
l/ =) 2 = X = — o

/ . ~><'2
505 —ace < -1z <
C han 5 / _)(1 /-lk)(e-—xl)/ \\\e /v " ++++ e l.&/—-(—n’f—"f"
G x)e T« 72 /? 75 ~ =

-

3% : x
Prodigt =~ + (-2 Xe %
= -2 (1-27)e" —

) 7
(X) c.Up. . Dozom C._c(ﬁ

TrHectim ot x= 4 XX

Let h(z) =ze™®. Find the interval over which h(z) is concave downward.
= (x-2) e~ ¥=0 A
> 2 Concove- 7
- > —
2, A e (—e=, 2)

— e’k(‘—")() __)7/ " 0/ -
W) = (1-x) /ﬁ’X(_{_ (()—;()(Gi)() hW't) — = 7 +—:¥/’7
— - I-x)(—e . =\

_ L e ) e [ eup

Example 27:| Suppose p(z) =z®+az?+bz+c, for some unknown constants a, b, and c. Suppose p(x)

has a local minimum at p(3) = —8 and p(z) has an inflection point at = = 1. Determine p(2).

(Hint: Use the inflection point and local minimum conditions to first determine a, b, and 9) b,
Cobredtion l701H+ ot x-= /ﬁ,—;”//)}& : Locolenin at V’—:: = Fb(?) =
0 ) = Za g 200y ) fo == op=-1
o (A= 6x+2a = P (1) = 6+da= = pU= 3-1-67
2
= a= 3,7 S0 »x)= XZBX Lx+c

({X)f X?' Bx%q-kx,(-c - /{/aq/f/ ]7/?); ;2 so _ 975= q. So
— G = ;?’;,7___Q¢;-Fc —//>C,$ 2 o
()= =S = Pt 2
F (Q),;Z%,Z/;Z"ql"?é{q

Example 28:| The graph of the derivative f’ of a function f is shown. y Se F _

tde:riv;tiv:e o:f I J

a) On what intervals is f increasing or decreasing?

(
(b) At what values of z does f have a local maximum or minimum?

(c) On what intervals is f concave upward or downward?
(d) State the z-coordinate of the inflection points of f. )
. o = s, )
() P 7 whre £770=2 (1, ‘) (6{9
P\ where PI<OD (-, (), (6
hire F6) 71\, 50 =6,

\¢) Locol o ! JUn— 4 - ’
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IA 5o (%=
R cwp > £'20=> 87 - >
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